4) Find the radius and the interval of convergence for the power series.
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Use the ratio test to find the radius of convergence.

x| "
P RCLID NS S
s o2 e/”«\ ;ﬂ(AB(Y-{B
e U_}_b_ﬁ\d} - | xee
N=) 2 ]mf'/]\,f € -
Note | Ja(n4 __LLH Li— ,f:_u (r- D
— :/\I—)éo o

=S o0 )m[/\S N~>>2 ——J-:"
M

To have convergence we need this limit to be less than one.
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now test the endpoints of the interval.
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This series will diverge by the test for divergence.
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This series will diverge by the test for divergence.

Conclusion:
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